 EQ \b(3m-a)\b(a+3m)-\b(2a+m)\b(3am) =
Раскрываем скобки.

= EQ  \b(3m-a)\b(a+3m)-\b(2a+m)3am =

Изменяем порядок действий.

= EQ  \b(-a+3m)\b(a+3m)-\b(2a+m)3am =

Выносим знак минус из произведения.

= EQ  -\b(a-3m)\b(a+3m)-\b(2a+m)3am =

= EQ  -\b(a-3m)\b(a+3m)-3\b(2a+m)am =

= EQ  -\b(a-3m)\b(a+3m)-\b(3am)\b(2a+m) =

Воспользуемся формулой разности квадратов.

Раскрываем скобки.

= EQ  -\b(a\s\up8(2)-9m\s\up8(2))-\b(6a\s\up8(2)m+3am\s\up8(2)) =

Раскрываем скобки.

= EQ  -a\s\up8(2)+9m\s\up8(2)-6a\s\up8(2)m-3am\s\up8(2) =

Изменяем порядок действий.

= EQ  -6a\s\up8(2)m-3am\s\up8(2)-a\s\up8(2)+9m\s\up8(2) 
